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General Instructions : _
(i) This question paper contains three parts A, B and C.
(i)  Part A is compulsory for all candidates.

(i1i)) Candidates can attempt only one part of the remaining parts
B and C.

(iv) All parts of the questions should be attempted at one place.
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PART A
(Not-for-Profit Organisations, Partnership Firms and
Company Accounts)

W &
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1. When the Receipts and Payments Account is converted into an Income
and Expenditure Account, an accounting concept is to be followed for
the provisions of the Accruals and Outstanding. Name the concept that
is followed. : :
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2. Can a partner be exempted from sharing the losses in a firm ? If yes,
under what circumstances ?
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3. State two elements of the partnership deed.
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4. How is a new partner admitted to a firm ? 1

o U T gEeR 9 Y9y N GEar g ?

5. Why would an investor prefer to invest in the Debentures of a
Company rather than in its Shares ? 1
wF fvE TE A A SRl # omen murel # fREW & & o s
M 2

6. From the following informations calculate the amount of subscriptions

to be credited to the Income and Expenditure Account for the year

2007 - 08 : : 3
t Rs.
Subscriptions received during the year 70,000
Subscriptions outstanding on 315t Mafch 2007 16,000
Subslcriptions outstanding on 315t March 2008 5,000
Subscriptions received in advance on 315t March 2007 12,000
| Subscriptions received in advance on 315t March 2008 11,000

Subscriptions of Rs. 8,000 are still in arrears for the year 2006 — 07.

ffafad gaamstt @ a8 2007 - 08 ¥ 9-2 @ & 5 & 3R faw s &
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2
T H w9 ¥ Ui 70,000
31 7 2007 ® 3TEW T=[ 16,000
31 7 2008 F 3@ T 5,000
31 719 2007 ® agH ==l 12,000
31 W 2008 H A == 11,000
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The Directors of a Company forfeited 500 shares of Rs. 10 each issued
at a premium of Rs. 3 per share, for the non-payment of the first call
money of Rs. 3 per share. The final call of Rs. 2 per share has not
been made. Half the forfeited shares were reissued at Rs. 2,500 fully
paid. Record the journal entries for the forfeiture and reissue of

shares.
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Meena Ltd. issued 30,000 shares of Rs. 10 each at a premium of Rs. 2
per share payable as Rs. 3 on application, Rs. 5 (including premium) on
allotment and the balance on first and final call. Applications were
received for 42,000 shares. The directors resolved to allot as follows :

A. Applicants of 20,000 shares 10,000 shares
B. Applicants of 20,000 shares 20,000 shares
C. Applicants of 2,000 shares Nil

Balu who had applied for 1,000 shares in category A and Ganesh
who was allotted 600 shares in category B failed to pay the allotment
money. Calculate the amount received on allotment.
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